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Lesson #8: Understanding and Performing Compositions of Functions
(Reference: Lesson #53 in book)

Problem

1. Evaluate the composite function for each of the following, given the different functions.

L If fx) =3x 5 and g(x) =x", find f(g(4)) or (f° g )(4) and g(A(5)) or (g1 ) (5).
2. I fix) = ~2x—5 and g(x) = 3x +2, find f(g(-2)) or (f° g )(-2) and g(f(3)) or ( g°f)@d).
3.1 f) = 4x — 3 and g(x) = ~/x~8, find fg(12)) or (f° g )(12) and g(A9) or (g1 ).
4. If f{x) =—6x> +30 and g(x) = ~/3x - 9, find Ag(6)) or (f°g)(6) and g((2)) or (g°1 ) (2).
5. If fix)=—2x+1 and g(x) = J:E , find f(g(7)) or (f° g )(7) and g(A(-3)) or (g > f )(-3).
6. If fix) = —3x ~3 and g(x) = x” +2x°, find f(g(2)) or (f° g )(2) and g(A(3)) or (g °f )3

7. I flx)=x" —x+1and g(x) = 2x” and h(x) = «/;, find f{g(h(9))) or (f° geo h)(9).

8. Find the composite function for each of the following, given the different functions and find the
domain of each of the resultant functions.

8. Let f{x) =4x —6 and g(x) = 3x. Find the composite function f{g(x)) or ( fo g)(x) and g(f(x)) or
(gof )@

9. Let f{x)=x" —4x and g(x) = 2x. Find the composite function f{g(x)) or ( fog )(x) and g(f(x)) or
(g°f ).

10. Let f{x) =3x+5 and g(x) =x”. Find the composite function g(f{(x)) or (g of )(x) and f{g(x)) or (f °og )(x).

11. Let f{ix)=2x—1 and g(x) =x" + 1. Find the composite function g(f(x)) or (g of )(x) and f(g(x)) or
(fog)®).

12. Let f{x) =2x” +7 and g(x) = 3x — 3. Find the composite function g(f(x)) or ( geof )(x) and f{g(x)) or
(fog)w).
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Let f{x) = 3x” +4 and g(x) =x*> —5. Find the composite function g(f(x)) or (g of )(x) and f(g(x)) or
(fog)@:

Let f{x) =2x -5 and g(x) =x’ +2x — 8. Find the composite function g(f(x)) or (g of )(x) and f{g(x)) or
(fog)@.

Let f(x) = 4x* +3 and g(x) = x’ + 8. Find the composite function g(f(x)) or ( geof ) (x) and f(g(x)) or
(fog)w.

Let f{x) = —2x and g(x) = 4x —5 and A(x) =x”. Find the composite function A(g(f(x))) or (h ogof )(x) and
g(h(fx))) or (gohof ).

Let fix) =2x — 1 and g(x) = 3x and A(x) =x” + 1. Find the composite function 2(g(f(x))) or (h° gof )(x)
and f(g(h(x))) or (fogoh)@).

Let f(x) =9—x and g(x) =x” +x and A(x) = x — 2. Find the composite function h(g(f(x))) or (h ogof ) (x)
and f{g(h(x)) or (f°g°h)@).

Let f{x) =x’ —5x* and g(x) = 2x —3 and A(x) = x + 4. Find the composite function A(g(f(x))) or
(hogef)) and fg(h(x))) or (fogoh)().

Let f{x) =2(x—1) and g(x) = x” and h(x) = A/3x + 2. Find the composite function A(g(f(x))) or
(hogef )@ and figth(x))) or (fogoh)@).



